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1. Choose the correct option

A. Which of the following statement is false with respect tg ﬁe
a) Change in Constraint coefficient of basic Vanab 28, %, ol
b) Change in Objective function coefficients of_ ﬁ,ba§ic Vanable
¢) Change in Objective function coefficients of b% c"‘vaﬁable
d) Add a new constraint %

B. Which of the following is/are invalid pair (chang rl;emedy) for sensitivity analysis context
a) (Change in Objective function coef éf”ent& gf non basic variable, Simplex)
b) (Change in Objective function ccf% elénts of basic variable, Simplex)
¢) (Change in RHS of constraint i j;)éxj
d) (Add a new constraint, D],lal simplex

C. Which is/are not a salient® fgg,tu “transportation problem
a) Optimality of MODI or* U)// ‘method b) Economic Interpretation of Dual
¢) balanced problc{h;/ _d) integer solution
ra
D. Which of the follo?v;ng Is/are valid termination condition of non gradient optimization
proceduregs” asﬁiim fis an objective function.
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E. Which one of the Hassian matrix does not satisfy convexity
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2. Why we do sensitivity analysis and write the name of any two cases? [2]

3. Explain Min cut theorem for max flow problem with duality. You may consider any arbitrary
graph. [5]

4. Solve min cost flow of below graph? Consider b1,b2,b3and b4 are respective resource at
different nodes and edge weight represents the cost per unit for transporting the resource, (5]
S &kit\

b1=6

5. Find out the optimal solutions to minimize fgeIx+y Such that, x*+y’=8 and xy=8. [5]
6. Explain the principal behind the expansi 11 ’-:m @?ﬁractlon behind the simplex method. Please

provide respective formula. N : [5]
7. Find out the derivation of hessian maj oJfio _]ectxve function f(x 1,x2) with the constraints g1,
g2, g3,g4 as given below, Please . s rhinimization m. [3]

8. Solve the TSP with branch and bound methods for below distance data among the cities. Each

cell(i,j} represents respective distance between i city to j city. Here we have 4 cities. [5]
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